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. 36, ‘aREERY Hisagiwd ) wam i fa Saa e ol f 2 .
(A) FRUEEH (B) ufumare® <§4(C)\ QraarEeh (D) aamam
37. WE-ETE A v A RY FRm s v=y: | | =
- (A) ST - (B) P 11© fwd 3 (D) gita
38. wHdgH Ul &Y ¥ e '%
(A) W-frenfea wE @=-weiffT gae) [j(B) ﬁtﬁmﬁammwﬁhqm
(©) ﬁzuﬁaﬁ%"qﬁaqﬁmﬁmqﬁaaaqﬁmm @(D) ﬂtﬁ%ﬂfﬁﬁ(ﬂﬁmw) :
~ The full form of NPA is : . ;
~ (A) Non-Performing Actions (B) Non—Performmg Assets 1 '
(C) Non-Public Assets : (D) Non-Package Action . '
39. IRy forw foret # I Fer AT ST @ 2 | | A
A e (B) W <r(C) 011> (D) wferagy
In which district of Uttar Pradesh is the ‘Shera Dance’ celebrated ? ;
(A) Bijnor . (B Amethi  FF(O) Ayodhya (D) Lalitpur
40. ST (SEfreT) 7 TS o T 3R SrEEdr” Tegs Wﬁ?ﬂﬁ%ﬁﬁﬁ@ﬁﬁm%ﬂ%‘?
: ‘(A) Wn@r . - (B) &HaT " ) = (D) syar
The words “Unity and Integrity of the NatlonEjn the Preamble aim to promote whzch ﬁmdamental
principle ? ° ; S :
: (A) Sovereignty B Bquallty - (©) Justice ' (D) Fratemlty
41. mmm%ﬁﬁ@ﬁ%mﬁm@mﬁwéﬁ%mﬁméﬁﬁ
(&) 3F=BT25 = (B) IWR10 € 3= 14 - (D) ITHT18 -
Which article of the UDHR (Umversal Declaration of Human Rights) guarantees the right to seck asylum
“from persecution 2.
(A) Article 25 " (B) Article10 (©) Article 14 AD) Article 18 X
e S e D TP 1w i
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42. W stewe | fraffad 3§ & e T s o e forar smar 8 2 i
(A) TafTat (B) I (C) AT (D) T
Which of the following type of tax is submitted in Indian GST ? :
(A) Property Tax (B) Income Tax *(C) Service Tax (D) Wealth Tax
43. fefefiaa # & forem veelt s gfvard frer o faem wfqafea e 2
(A) TSI TH A T (B) weTeHT Tt
(C) SETEEE E& (D) AT
Who among the following first pmpo@ed the idea of Basic Education ?
(A) Raja Ram Mohan Roy (B) Mahatma Gandhi
(C) Jawaharlal Nehru i (D) Dayanand Saraswati
44. WRTH,2020-21 ﬁaﬁq-mmnmsﬁt;]ug@wmo
(A) FAlH (B) Wﬁ% -(C) 3| (D) afrerTg
In India, which state was the leadmg ucer of spices in 2020 —21 ?
(A) Karnataka (B) MadhygBradesh (C) Assam (D) Tamil Nadu
45. Fraffes § 3 SH-01 SER TG § TeHTeT % SRR & G § STE A8 ? it
A & . (B) el Yo et (D) e rer )
Which of the following festival is known as the festival of lights in India ?
(A) Eid (B) Holi (C) Diwali (D) Christmas
46. zozlﬁwﬁg@zmaﬁmmﬁ@msﬁmﬁﬁmaﬁmﬁmtﬁ%mWﬁ ‘
T fear g <
(A) =t B) T i (C) wEwm | (D) gt
In 2021, Instagram was ranked glob@ at position on the Internet in Most Used Social
Media Platforms Worldwide. === . ; i _ 5
(A) Fourth B) Secondﬁ (C) First (D) Fifth
47. dRIATTARIEEFR R @)
When did China invade Tibet ?
A) 1949 ,(B) 1952 _ (©) 1950 O 120 <
48.  Frfrian 3 & o sftar bt et GO T S bk ART @I 2 '
(A) I «(B) FHI ul (C) S=U (D) - Hies
Which of the following organisms is ccqidercd a bioindicator of water pollution ?
(A) Lion B) Eaﬁhwg:t; (C) Zebra (D) Frog
49. SHEEAT (D) FETA B : ]
(A) D=S(m*R)/S@H) fzg*;: : V(B) D =S(THR) /W (=)
(©) D=S(&w) /N @) . l:_l (D) D=N(E&) /S (&)
Deﬁsity of a population (D) is : @ G
(A) D=S(size) / S(space) * - : ; + (B) D=S(size)/ W (weight)
(C) D=S(space)/N (number) (D) D =N(number) / S(space)
AL A o s T i ook
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50. A el o TehteRoT WK o TR TRET e B 3 s & 2
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54.

(B) &my Frmreft i wrgrd gU AT (o T T ¢ e ek
(C) W gee il ot Srarvararar 1 T T GHIH Fh
(D) TFTRGH % T TSl LTS it o ik I ST Fsharrait 251 woafier e

(A) By improving identification and verificationplocesses

How does the integration of biometric technology[iahance India’s in(emal security framework ?

(B) By providing real-time location tracking enltancing overall surveillance
(C) By eliminating the need for human security a@irsonnel altogether
(D) By reducing paperwork and streamlining adlij]istrative processes for citizens

51. 1928 % aREIeh qeamm T g e farar o 2

(A) SR B
~AC) TR ToovE o

Who led the Bardoli Satyagraha in 1928 ?

(A) Jawaharlal Nehru
(C) Sardar Vallabhbhai Patel

+h
2(B) WRTCHT 7Tt -
Loy gz
®) ;
(B) Mahatma Gandhi
(D) Subhash Chandra Bose

52.  wum A fewfdn < die v (urifit sim a Sl qrER) R A R 2

(A) ThEE

(B) HSHM Tal

(C) 3téufa T (D) = faew

Who is the recipient of the first-ever ‘Lifetime Digtulbing the Peace Award® ?

(A) Rory Stewart

53. W@ W AT e SR T R
(A) ETMEATRY  +B) BhE©mw

The Indian state with the lowest sex ratio. is :

(A) Arunachal Pradesh (B) Haryana

(B) Salman Rushdie {Q(C) Arundhati Roy

HATSH A& Sl Goielt (IRENA) Tt 82 [

(D) Joe Biden
Ho
[(ko) dsm= (D) SWRY

i if(C) Punjab (D) Uttar Pradesh

2 (A) - g s et $em ufesEre & forg ford) werrar vam w2
(B) 3 (vt Sreil & S9Nt 61 wara 3t
(€) femmratier <uii % fore vy it shrls o st &

(D) IRENA 7@

ot ot AT T WX A Hi el &

What does the International Renewable Energy Agency (IRENA) do ?
(A) ~ Provides financial aid for fossil fuel projectsrl?f)rldwide

(B) Promotes the use of renewable energy .

(C) Develops nuclear energy programmes for deVe]oping countries
(D) IRENA focuses on advancing nuclear poweti4,

55. 14 fidsR ! frg w9 § W SAT R 2
(A) Sefffeaa
©) g wagra feaw

14 September is celebrated as :
(A) Engineer’s Day
(C) National Voters Day

U e

C a—ﬁﬁ I
) AB) wgwuwi
The Bharatmala Pariyojang i related to :
- -—--E‘}_) --F? LS S (B) Roadways
{5 Tl ) T T T T i v e e

L]
H(B) T fedt feaw

Efn) fyer S e

"@XB) National Hindi Diwas
(D) World Cancer Day

(C) et (D) &g ISt

(D) Airports
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57. e sArderare O vEl & g % Ry e @eT I R TS 2

(A) UNCCT (B) TTWH {C) = . (D) g
Which organisation is held responsible for coordinating global counterterrorism efforts ? f
(A) UNCCT (B) INTERPOL (C) NATO . (D) World Bank

58. agaﬂﬁ,ag,aﬁaﬁma@ﬁwmaw%?

What is the GST rate for necessary items like milk products, bread, etc ?

pA) 28% B) 5% o(C) 18% @ 12%
59.  SIEHT T ATET 3 WA ST e st o a1 Oy T S 2024-25 FHER A EEIIR?
(&) A (B) W (©) fa (D) 3R g
What is the name given to NASA’s manned landing mission to the Moon which is likely to happen by
2024-25 ? : ke )
(A) Artemis (B) Lunar Gateway[:] (©) Orion - (D) Apollo Regained
60. ﬁaﬁ@wmmﬁmﬁwammw@mwﬁwmaﬁmﬁmmﬁﬁm%:
(A) SFaftg-smeia forsiet Same ] s : sl s ;
»(B) It ScTed & fore qo ferde @
(C) o YT W SR HIe-Hh Wi o6 T & Gew St : i _
(D) 3=Td U Yt SNt : ]
The International Thermonuclear Experimental Reactor (ITER) project aims to demonstrate the feasibility
of : .

(A) Space-based power generation
(B) Nuclear fission for energy production
(C) Fusion energy as a large-scale and carbo@ee source

(D) Advanced solar panel technology q
61. S 2024 T Tk awr & et F AT R E 2 "
A) SRt = AB uici
Who i; the Léader of the Opposition in the Lok‘t%bha as of June 2024 ?
(A) Sonia Gandhi “* (B) Rahul Gandhi
(C) Mallikarjun Kharge ' ] o Arvil:td_ J(%ﬁ\iral
62. T AT TR oh G B & ? ©) ; :
(A) TS MB) FIHGET - o (C) FERERTH  4D) TE@E
Who is the author of the book “Tughlug Nama” ? resit
(A) Allen Zen (B) Amir Khusrau (C) Ziauddin Barani (D) Ibn Battuta
63. SATI T leqor wfreier €T T A SRwA Y 9 ¥ -
2(A) TG 3R &=y AT T WWWW (i i :

() T st 3 rifre ST Y S 2

(B) T BRI 3 Searad TS asy - <]
@) Ty e R w0
What is the main purpose of the ComprehensiveTest Ban Treaty ?

(A) Banall nuclear explosions for both civiligizand military purposes

(B) Ban nuclear weapons production *
(C) Promote the peaceful use of nuclear ener%

___________
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64. aﬁ?g@ﬁ%&rﬁﬁwa:%qmﬁmm%?

(A) wifeer «(B) @d © O T (D) FRIZ (71eF)
Arjuna Award is conferred for achievements in the field of : '
(A) Literaturc (B) Sports © bakce (D) Theatre
6s. o wTe it sty ¥ Sl S o R srgafir sifvd st SRR SRR S
forg wiet & streetor i g ? & _
) 7EtEER (@) 4dteE ¢ () Ladtewiom ) 73w
Which Constitutional Amendment Act extended the rvation of seats for Scheduled Castes and
Scheduled Tribes in the Lok Sabha and State Assemblies ﬂ ¥
(A) 79" Amendment (B) 4d Amendment  (C) ‘C/h Amendment D) 73 Amendment
66. “TIHeH” FeT IRa & fora e | R @ 2 . _
() frga (B) AeIe™ (C) =frg o(D) fiirm
The “Loktak” lake is located in which state of India ? _
(A) Tripura (B) Meghalaya (C) Manipur (D) Mizoram
67. i farw shiew fredht st & 2 ]
1(A) TS FAW AR (B) Wl e
(C) FudAza™ - (D) Ughb. St
‘India Wins Freedom’ is the autobiography of whom ? [ ] ;
(A) Abul Kalam Azad (B) Rdjendra Prasad
(C) Subhash Chandra Bose | (D) Advani
68. 2016 ¥ famslieror & A1 RBI Y faha wferarar 500 3 1000% FACTWEL?
What percentage of 500 and 1000 rupees notes was received by RBI after the 2016 demonenzatlon 7
(A) 97.45% (B) 98.96% (©) 95.65% «D) 93.27%
69. 1993 H A AR W fra wiie 3 =T ST 7T |
(A) TREH Mo (B) wrEn iwum
(C) eafshi avwom L (D) fameT Sson
The World Conference on Human Rights in 1993 adopted B
%(A) Helsinki and Amsterdam Declaration (B) Amsterdam Declaration
(C) Helsinki Declaration r (D) nna Declaration
70.  TTHT % G HAR FA %mmmm%m&w@n%mwmg?
«(A) It sTaeia (i) (B) @ wreaw fuvr (sreimieoT) ‘
(C) - | Heafdn (D) e sTaeia
What is the term for the strategic use of social media platfqgis to communicate with an audience ?
(A) Virtual interaction : (B) Social media marketing
(C) Social networking (D) Online chatting
71. g TR ? ' :
E?imaﬁr : (B) FifwET GRS «(D) fy
What is the capital of Bhutan ? |
(A) Sarajevo (B) Brasilia (C) Porto-Novo (D) Thlmphu v
AT e i~~~ S T PageBot2d" s i e o
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X W&quﬁgaﬁwm%‘)
(A) ey *(B) ta‘irs:ﬁg
© 4C) wETemTITER €g : (D) mﬁsﬁun’hﬁﬁﬁr
‘Which is the longest River bndge in India ? _
.(A) Bhupen Hazarika Setu -~ . (B) Rabindra Setu
(C) Mahatma Gandhi Setu (D) Annai Indira Gandhi Bridge
73. TR Y RraT e S AT S Ay : e ;
 AA) TER1995 (B) 31 1853 (C) FM=I1998 (D) T 1991
When did the Government present the Kisan Cr@ Card Scheme ? -
(A) November 1995  (B) April 1853 & () August 1998 (D) July1991
74._'.qm3ﬂtﬁwm%diaoréam%méaﬂuﬂ ﬁﬁﬁamwﬂﬂﬁ?m‘?
2
(A) I AT FRIHHT AT | []
B) mﬁm@w%w% IR R B
©) rfiFufeaam P A
D) | TET RNt ST T FaT St ; ok ; ; _
How does the partnershlp between India and Vie%nm change their regional security dynamics ?
(A) Through joint nuclear programmes- :
(B) Through cultural integration
(C) By imposing economic sanctions
(D) By increasing defence cooperation and maritime secunty
“75. @m@mﬁm%sﬁzﬁz%m@%aﬁmﬁw%mﬁﬁrz{m%l
= @) wEEd (B) WEwE <] (C) T : (D) AT
" ___is a software program that filters a}} Lithe data commg through the Internet.
J(A) Firewall ~ (B) Antivirus D (C) Cookies .- - (D) Malware
76. TR TRTHT M < 1 7643&&137!’&’%%*&%3%131% ﬁoﬁaﬁmw’rﬁm S%amﬁamfﬁam%m"r
RATE R R R
A sum of money is paid back i in two annual 1nsmnents of f 1 764 each, allowmg 5% compound interest
compounded annually. The s borrowed was':
(A) 3,240 ..,({)u:szso O (© 3220 (D) 3,200
77.  C 3B T % =t shuT: 18 Reft o 24 fodlf o o wrr ¥ aﬁ%sﬁﬁﬁwmmﬁmaﬂtﬁch
T | B A9 He o fopaa fAt A g ey
@ 1R (B)sﬁ?'--%sﬁa O 85 f .
“C and B can do a work in 18 days and 24 daysﬁLspoctwely They worked. together for 8 days and then
- Cleft. In how many days did B finish the remainjag work ? :
(&) 10days . = /() 5days . [ ] 51 days ©) 8L days
78. ~ A 30 B S e v iy 75 Rt o e l%ﬁ@wm{{sméﬁﬂAﬁ@wmoﬁaﬁm |
ST B 3 9w hmt 0y 23 ot 3 90 BT | A 1 el R R 3 b A S me S R 0
(A 25fa 26t - ® © 19 fam (D) 18f=
A and B each can do a work in 75 days They began the work together but A left after some time and B
completed the remaining work in 23 days. After how many days of the start of the work did A leave 9
A) 25 days - ' (B) 26 days . (C) 19 days - (D) 18days
DZUBIEE = e . Page §-o_f_2-4- Re s gk P G T
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79. wa@aﬁmﬁzs%qﬁ‘qﬁn&mﬂmﬁmﬁzo%wﬁmwaﬁrﬁq10°/aa3rﬁmrrana’r?ﬁqaﬁ

80.

81.

82.

aftorret gfe T @ 2

The increase in the price of a certain item was 25%. Then the price was decreased by 20% and then agam
increased by 10%. What is the resultant increase in the prige ? T

A 15% . - (B). 5% \_(};}FO% - (D) 12.5%

SFHT: T 180uﬁrﬁ«?ﬁmaﬁtmswﬁrﬁﬁﬁmawamaﬁmaﬁﬁmwﬁﬁmm&
T8 02001 61 % 320 wf Frelioe O 3 S W 20% A R 2

In what ratio must the two types of tea at ¥ 180/1(@ gnd % 280/kg respectlvely be mlxed S0 that the obtained
mixtygeSold at T 320/kg earns a profit of 20% ? :] ' _ : :

By 2:13 : (B) 3:13 (C) #3138 (D) 1:14

A 3R B ) 7fd F W % o FT I 2 : 3 %%WAﬁqugﬁﬁBmmwm%
15 e siftre o 2 | afe A R TR & , T 38 0 T 0 # foh o et 2

A) 45fme \/a{) 22.5 e o) 5P (D) 21.5 e

- The ratio between the speed of travelling of A a.mB is 2 : 3 and therefore A takes 15 minutes more than
~ the time taken by B to reach a destination. If A @1 walked at double the speed, how long would he have

taken to cover the distance ? ;
(A) 45 mintues (B) 22.5 mintues (C_) 35 mintues (D) 21.5 mintues
T YATTRT AT ST W 5% 14 A 3 AT 8 Sl & | St @ o 78 iRt forer & % T 6 AT & st 2

A sum of money becomes three times at 5% per anhum simple interest. At what rate % will it become six

* timesjn the same time ? . : <] :
Mz 5% ®) 10.5% - 1) 14% D 1%

83. ﬁmﬁﬁaﬁaﬁm@mﬁﬁﬁmmﬂéﬂ%@mEﬁi’f%ﬁmaﬁméa?%ma;w%lmam

85.

A trader marked the price of a commodity to inclgr a profit of 25% but allowed a discount of 16% on the
marked price. What will be his actual profit ? . ) '
(A) 9% _ ®) 16% f;-(C) 25% BT 5%

86. U f3Fahe Raaret #it 30 wiial & fore aectarit ow%|maﬁaaﬁﬁmngmgwﬁ,
iferes ¥ | 3 57 3T It B e T T mzswﬁﬁwﬁaﬂssm%lﬁwﬂw ;
TFETe? .

The batting average for 30 i innings ofa cricket player is 40 runs. His hlghest score exceeds his Jowest score
by 100 runs. If these tWo innings are not mcluded the average of the remaining 28 innings is 38 runs.
Then the lowest score of the player s : .
@ 17 ® 19 ‘/zf 18 (D) 20
7177 G o~ (1 U M
3B 90 | g8
a;’;o ﬁb“;\o 63% i
- « - =4 n
b D rd A 0 330,

AA) T230 (B) %205
. 84 i el T 70%, 0,35 &, A v s A 120% T |

1-1-1983 Y 7 380 IR A & 3 1-10-83, 11684 3N 1- 10-3511{%40%1:“&1%?{%%@21&%

1s]= 86a%ﬁmﬁ3ﬂé\m% GlEH qﬁrnﬁﬁﬁmmﬁmw% ?
A man’s pension on retirement from service is qu] to half the average salary dunng the last 3 years of his
service. His salary from 1-1-1983 is % 380 per m@ath, with increment of T 40 due on 1-10-83, 1-10-84 and

1-10-85. If he retires on 1-1-86, what pension does’he draw per month ?
' (C) %215 . (D) 225!

T

If 70%-of a number is 0.35, then find 120% of th umber. R
(2 0.6 B) 64 H©E) 72 - (D) 6.0
@mﬁ%zs%mmmﬁamﬁai%ﬂ@mﬁéﬁmmﬁéﬁﬁmwmls%aﬁtﬁz%fr"ﬁl


https://v3.camscanner.com/user/download

Jauuedswe)d a

MYUPSC

87. U JUAT T-SEIe-EIeR T TR T T 460 F Srerar & o 3 52 Tha Bar € | af 72 38 7 580 F J=ar 8, A
SHEHT AT ITH! T BT AT BT & | TFT H7 762 & 7 o1 2

A used two-wheeler-dealer sells a scooter for € 460 and makes some loss. If he had sold it for ¥ 580, his
profit would have been double of his loss. What “1£E|thc cost price of the scooter ?

T 500 (B) 520 <FC) T 540 ' (D) ©480

88. 285, 510, 1440 T HETH GHIGHH (HCF) F1d ST
Find the HCF of 285, 510, 1440. ' '

A) 17 (B) 14 Q) 15 D) 16
1 2 3 4 &8 :
89. St wwwaﬁm(ﬂcp)mml
. 1234 B
Find the HCF of -, £, 5, - @ | §
1 1 il AL
A 35 ® 75 © 2 \’('D)/GIO

00. s e it afw AR st o # | AR 15 Wi gE O W, A ek i & e 2 A R
B T | ST T 45 TG AYFRAT F T T T F T4 7 T&F A At F o 5w = # 1w
S i o e o e e 1 -

There are Senior officers and Secretaries in an otfl{c If 15 Secretaries went on leave, then every Secretary
has two Senior officers. After that 45 Senior officers went on leave and now every Senior officer has
5 Secretaries. Then find out how many Secretaries:pvere there initially.

(A) 35 ® 30 [710) 40 R (D) 25" _

91. U A1F U ¥ faudia 80 fwdt 16 52 7 am%q%zﬁ:m 12 werd @ | e s Fam A e
A)7s5fEfEa - B) 6.5 /e C) 5.5 ferdfi/eier (D) 6.6 frhi/siar
A boat goes 80 km upstream in 16 hours and 72 k@)downstream in 12 hours. The speed of the boat in still
water is : ' .
(A) 7.5 km/hour (B) 6.5 km/hour \/QC{ 5.5 km/hour (D) 6.6 km/hour

9. qmsﬂﬁﬁmmﬁn% ot o w1 3 7 e & S 7 e & o et ey 3 foredyar form e a, ST
I FEIFIER | qOA AT RIE? .

1 3 . 2
13- feef Freffar : 1
@) 1B B 12 [(lo) 3 fedt/ea -.)‘3’/!"2 Tt/

A person can row 22 % km an hour in still water aﬁﬁ]he finds that it takes him twice as long to TOW up as to
row down the stream. The speed of the stream is :%

(A) IB%kmfhr (B) 12 km/hr 45C) 3 km/hr (D) 7%kmfhr _

93. Pl o o sz 35 2000 gt A % 50 1 TR SR e ot = AT R | IEH ST F
ITIE, AR 5% vz U Titen T wA & S &, T o Tw 25% A HAET | wwits
50% TehI ot ST femry wram o | A Fmfem 2 et o gam 2
A manufacturer undertakes to supply 2000 pieces of a particular component at ¥ 50 per piece. According

to his estimates, even if 5% components fail to pass the quality test, th i
5 A en he will make a
25%. However, as it turned out, 50% of the components were rejected. Then what is thz 10581'(:0& t;l)f
e

manufacturer ?
_____ )G (B); 24,000 (©) 26,000 (D) T28,000 2275 0
DZUDART. | Vol s - bl H e s reetacssss et oo bl
a500© Page 11 of 24 e 50T G5 TR

L1000 XS0 = S00°0

“? 15p
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By selling a car for ¥ 6,400, Mr. Rao lost 20%. Then the cost price of the car is ;
(A) T 8,400 (B) 7,200 (C) 7,680

@%wwmﬁ@w?rmaﬂéwwm@maﬂtmﬁwwmmaamﬁqms 8, E
3t K fam & | STl ST s 0 e 3 R e e b uereAT =it 2

R oeft 1€ # o e w2, < gl o o ww EEn @ 1 -

(A) 33NE (B) 83K " (©) 33K \Lﬁ{‘ﬂaﬁTE'

Four cards are placed on a table. Each card has a number on one side and ajlefter on the other. The cards
on display show 3, 8, E and K. Which cards must’be turned over to satisfy o qulrement ?

“If a card has a vowel on one side, then it has an even number on the other si
(A) 3andE (B) 8andK (C) 3andK D) 8andE

T FH T 6,400 F e 0 2t T 1 20% F 77 g8 | A FR W A A AR ?
v&s 000

96. THURGRH 6 8GR A, B, C, D, E, F¥| B, C s Aer 8, 9 C, Bﬁﬁaﬁf%@aﬂtcﬁwﬁashgr% IE,C
Em'%%lD,Aﬁﬁz&%}F,Amﬂﬁ%wﬁwﬁmﬁuﬁwm%? T :
A family consists of 6 members A, B, C, D, E, F. B is the son of C, but C isfot the mother of B. A and C
are a married couple E is the brother of C. D is the daughter of A. F is the brﬁﬂer of A. How many female
members are there in the family ? ;
(A) 4 = B) 1 (€ 2 ' @QD) 3z
97. AR 6 AW Frhwa T90 7, A 10 AW A FmarTR? |
If the cost of 6 mangoes is T 90, what is the cost of 10 mangoes ?
(A) T160 ®) T120 (€ =130 ,\}B(f 150
98. e TN AT W S T Y S Tt et i TR % 96 o6t | Breife, 4 TR T 1Y 3T Ao
mﬁ’tﬁfwﬁr&?ﬁwﬁmﬁhwtwﬁmaﬁaﬁmﬁaﬁmmm _
A few students went on a trip and the total amount planned to be spent was T96. However, 4 students did
not turn up and as a result the remaining students had to contnbute T4 extra e number of students who
attended the tripwas : ; -
A) 6 (B) 8 " € 10 _ BD) 12
99. turd Tl A fopet s ¥ 2 ' : |
'How many rectangles are there in the given fi gure ? E i }
»
A 17 o © 14" " YL
100. R for # el (griTew) At den At | :
Count the number of triangles in the given figure. %
41: h
]
- ®
SRR 10 ®) 12 © 16 (D) 18
DZ U s R Fegeidoizd T R et i Al
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By selling a car for ¥ 6,400, Mr. Rao lost 20%. Then the cost price of the car is ;
(A) 78,400 (B) %7,200 (©) 7,680

TF TS T AR TS T T | Tk TS YT T TF T mmﬁm@m%ﬁm%lmhwms 8,E
3K R € | Eart savashan it g0 e F e R et Y e =nfew 2

“afe; forelt AT & ok O T R, A W T U T e R |

(A) 33RE (B) 83K "~ (©) 33RK ‘w{saﬂw

Four cards are placed on a table. Each card-has a number on one side and ajlefter on the other. The cards
on display show 3, 8, E and K. Which cards must‘be turned over to satisfy oumqulrement ?

“Ifa card has a vowel on one side, then it has an even number on the other sidéf’
(A) 3andE (B) 8andK (C) 3andK ) 8and E

U IRER A 6 W A, B, C, D, E, F¥ | B, C a2, afF C, B 1 a7 7€ & [A]siR C fafea sieTR 1 E, C
TR D, ANAAYIF, AT MER | R oo e ww@ ¥ g -

A family consists of 6 members A, B, C, D, E, F. B is the son of C, but C is4fot the mother of B. A and C
are a married couple E is the brother of C. D is the daughter of A. F is the b@er of A, How many female

T R 1 T 6,400 H S 9T 3t T i 20% i T §F | A R B e G 12 ?
g

members are there in the family ? . _ @ _
@ 4 ®) 1 R R e iy
97. ARk 6 WA HWT T90R, A 10 A A FwawML?
If the cost of 6 mangoes is ¥ 90, what is the cost of 10 mangoes ?
(A) T160 (B) T120 (©) Z130 _\/((B(flso
98. @Wwwmaﬂt@éaﬁaﬁM@ﬁzﬁﬁanﬁﬁ 96 <fi | TAifeh, 4 BT T AT 3K wRomREET AT
ST T 4 SR T AT ST TST | AT AT Y A ST T T
A few students went on a trip and the total amount planned to be spent was T96. However, 4 students did
not turn up and as a result the remaining students had to contribute 4 extra e number of students who
attended the trip was: v '
(A) 6 ®) 8 ‘ ©) 10 | DD) 12
99. <t SArehfa | fohae A € 2 ' ' 4
How many rectangles are there in the gwen ﬁgllre 2. o . E 3
1
a) 17 TRB)RIRE . - © 14 D) '15
100. fage fomt 7 Prgsit (griTew) it den fifAw) :
Count the number of triangles in the given figure. ]
E
O
®
‘?; (A)- 10 B) 12 (C) 16 (D) 18 _
DZUREES 5 e R B Ui Pageizercd b B . R RSO

Jauueaswe)d a
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101. RuwefEidg, a*sgﬁqshzﬁﬂéa@maﬁ@mﬁl

Out of the figures given, choose the one that will complcte the series.

(=] B (=) (@] S
o[2) o[ o[=] o=

<]

102. R 7en-ayE Ry e, ﬁqﬁmﬁqma@rﬁ@ﬁq -foredt w0 3 0w SR E, mﬁ@wwm%lm

IE-AE 1 IR
Four letter-clusters have been given out of Which three are alike in some manner, while one is dlfferent.
Choose the odd one. : _
(A) BDFH (B) HILN G) (C) PRTV (D) OQRT
103. o 3@ Hifsrg

Find the odd one.

OO O

WO @05 o[ =B
104. = & & foryw yra A : E}]

Find the odd one from the following : @

@ | ] ®) ;l% © \ _(D)I 1l
105. FEen ¥ e g yra Fif | D

Find the next number in the series. g

62,55:48,41, ]

A 36 (B) 34 ® O 32 D) BE o ca)E s
377 e __"_“"""_"_"“"-P.a_g_e_l_ft-)i—'ia """""""""""""""""

f/
¥ A

Jauueaswed a


https://v3.camscanner.com/user/download

Jauuedswe)d a

|/

MYUPSC

106, T e f, geeft epfa (X) H Re mu st & FH-H sty awmd s 2 |

107.

108.

Find out which of the figures can be formed from the pieces given in the first figure (X).

N D ]
4 g
X E

A) ®) \67 (o ,&/ )
)

T TEH! AT AR T F g R e 2, <a oot R e gl wam B 38R 0 BT B owh
Qe 1 39 TSeh! A FAT T & 2 '

(A) & (B) & (C) uf (D) @t
Pointing towards a girl, Vipin says, “This girl is the daughter of the only child of my father.” What is the

relation of Vipin’s wife Parvathy to that girl 2 [
(A) Sister (B) Daughter %C) Mother (D) Aunt

aft S T U Fref e (emien Bew 3 i T T e SR (W) e e 9
FTY-FE (FH9-9FH) e STHRFTR 2 _
(A) dE EEE)  (B) WSS (RFEN) Qp) IEA (@) . (D) W (EERR)

If you have a regular pentagonal prism and )& slice it parallel to its bases, what shape is the

cross-section ?

(A) Pentagon (B) Hexagon %}C) Rectangle (D) Square
109. TG [N : ;

FHT :%Iaum::ma?lﬁﬁq s . . ~

(A) THEGEE  (B) Aifheae (C) g (D) 9EAE

Complete the analogy : - '

Camera : Photographer :: Microscope : ? oliot RN ey ;

(A) Biologist (B) Architect ch) Chef (D) Pilot
110. 3TFTH A TAIADER? 4 |

What come next in the sequence ?

A%% 5 : -k S5

@ K - ®) I gq H ® 3
111. SfeHT AT T FHE 2 &

(A) 3 woe § [({B) i & e whew &

(C) AgardEE@ATE QD) WL WE

How are dolphins and whales similar ?

(A) Both are fish (B) Both have scales

(C) Both breathe air (D) Both lay eggs
112. 37 300 A S oy gRT ST o A s & e a |

Choose the letter pair which is different from others in the group.

(a) MH o L) S B TN RN LS JOLC N (SE D g e :
f):'{._ U—iﬁ ---------- P Pagettdiof2ass . 0

A
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113 4@ar:3,5,11,29,83,

st & STt e e 2 -
Series : 3,5, 11,29, 83,
What is the next number in the series ?-

Ay 245 = - (B) 283 ; (C) 253 (D) 233 :
114. ﬁqqt{ﬁaﬁaﬁﬁﬁa'smﬁﬁqﬁ‘rﬁqmm ‘PARANORMAL’ %mwm%ﬁa@muﬁwm -
: T ST ST AT |
~ Choose the word from the given alternatives thaLcannot be formed using each letter of the grven word
‘PARANORMAL’ only once. . 5"| .
(A). RARE (B) NORM 1:’:(C) PALM - (D) ROAR
115, 30Ta o g s fg e e s S T R | [ 5

o

Choose the next figure that continues the pattern. s
- % ; !

DD

e I T
. e P — -
116; rEE QAT 3 : I:gl | ; .
o o )
@A) 52° BN Me) 53 5 (D) 352

é &
) : /)_‘5
3). 225 [(C) 280 (D) 560
S5 :-,.-; g Qre et 2, R A et R afie 40 . st B, ﬁirmgs?ﬂ%aﬂtsorﬁ aa?ﬁ%l
W‘aﬁ_a\l@ﬂﬁﬁ i 40 7, mﬁ%lﬁmaﬁwﬁiﬁaﬁﬁmﬁaﬁ?
" (A) 65 B) 50%. _(C) 70 =, - (D) 60.
Priya started walking towards east for 20 m, theL fook left and walked for 40 m, then turned right and
walked for 30 m. Now she turns right and walks 4(“'11 How far is priya from her starting point ?

117. S § W ST 91 i |

Find the missing number in the series.

20, 35,69, 105, 190,
( k:a

(A) 65m (B) 50m [..(C) 70 m (D) 60m
119, -@mg?ﬁram12mmﬁmm@~,@tma@ﬁ.w7ﬁwmﬁ@mm%l
. F o fpa et sesmwrg e ' ;

SH o ® © um (D) T

A cycllst rides 12 kilometres west and then turns nght and rides 7 kilometres. In which du-ectlon is the
cyclist now fravelling ? :

--___gz}g__I:T_o_rfl}““: (B) East . - (C) West . (D)- South
PZ'U'% ' 1 e e Uy : —'“P-a-gé-l-s-laf PRI 5 ok e e S AR - -
i, | .
S ys S
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120. @Qﬂﬁwm%mﬁ%wﬁ'ﬂm& B,C,D¥I

Jauueaswe) ﬁ

(A) SectionD

(B) Section A

‘Which section exhibits the highest pass percentage in ?ﬁer of the two examinations ?

(@).] Section B

next year. i
2023 | e S R A e i e i e S S . (@J
2021 plddd s sdddddd sl il l sl e il
2020 5
3 2020 - 2021
milk (gH) 14 15
B3 coffee (@) 14 13
M tea 5T 13 15
o 2) T 20 (B). 10% Mp# X
{
.

(D) Section C

i YA A ﬁ'ﬂnB JFEC | FRAD l-;‘”&GOa
| ST et § vl B 28 23 L7 21 @ ' -
SrefaTiien odie & STiivl / T §
_ 50t Tl NN, 8 a5, - |
S i e e [ -_ - 1
Frdfarities wha o ol afer ; b
: 6. i 17 A 14 : :
Lﬁqﬂmmﬁw Ji e - Tz
| 2wttt & weft o 64 I TR T
2 TR & ey Qv 8 o e e e 2 5
(A) ¥ED (B) [FH A ). 3w B (D) FREC
A school has four sections A, B C, D of Class IX stude]its g 6
Result : | Section A Sectufrrp Section C | Section D %
Students failed in both exams 28 21) _ 17 27 /\
Students failed in half-yearly S - 12 g g B / \3 A
but passed in annual exams ' 1% ; %, Ve
Students passed in half-yearly - oy : - ’/gga
4 6 % 2 15 N2 2.
but failed in annual exams- % s \ :
Student passed in both exams 64 55 46 76

121 mwmﬁﬁqﬁrwmﬁaﬁﬁaﬁmﬁ%ﬁﬁmﬁmuﬁmaﬁ@wm

Study the graph and find what is the maximum perc ge mcrease of tea from the prewous year to the
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& 1TE IS WINT T ITANT 0 (AT IiYsafRn Y Tie SHIRY, 6T+ X Y a8, ‘ ‘— @I <uiaT 8,
= ¢+ T gitar @ 3R <+ 4 AT R |

Simplify the following expression using the given colle language, where “+’ represents ‘x’, ‘x’ represents

‘~?, ‘“—’represents ‘+’ and ‘+’ represents ‘+’, <l
9+4—-6x6+8 I
b - — +

]
(A) 24 (B) 16 (D) 12
2@? PR - N

af H+ IR H, %ﬁm% H-IFTa 8 H g?rwééaﬂwxﬁmw%ﬁ 1 1t 8, 3 PR
Ay framr e fF L pRIad e

If H + I means H is the sister of [; H — I means H is the brother of I and H x I means H is the mother of I,
which of the following means that J is the daughter of P ?

(A) PxQ-J+M (B) P-QxJ-M  (C) P+Q-IxM (D) P-QxI+M
w% fifie #re ¥, ‘LEARNING 3 160° ¥ &7 #<SaT Smar & | 96 #ie § ‘PREPARATION’ &% ferar
ST 2 ‘ H:
In a certain code, ‘LEARNIN G’ is written as ‘160 Eow will ‘PREPARATION’ be written in thai code ?
(a) 133 ®) 248 “C) 124 —B) 266

[] - ¥

PR st o St T & S 5 s ST e IR of S ek o &, 38 g
Arrange the following words as per their order in an English dictionary and choose the one that comes
first : ' ' -
Hardboard; Handspring; Handover; Handstand

(A) Hardboard (B) M m:) Handspring (D) Handstand
126, sjgem g A | S!: g i
Complete the series. ] 4 9
P2 6‘;1(2 20:30,42; & g -_ a4
(Mélg Yo o ®) 65 . M (D) 49
; el -
127, RTEHITRTRR_ #FR)
(A) W@ B S © D) ¥
Lion is to in Den as Spider is to
(A) Shed (B) Web (©) Hill (D) Tree
S R e R O NP TGO, | ARy
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128, 78 Rt 1 ST STo R 3T ST ST i & 7 faed 9 ST 5 SR § S T et

T AT T & | | _
Study the provided figures carefully and choose an option from the answer figures that maintains the
pattern observed in the problem figures. till '

(1) [ () || o) 9

gle | ielen | re]l ®

| II 111 v \%
@ N ® (V) r© (y OV
20 € | ol | € & c

129. frerfrfRem o & - st e, W% S 3 Sffy] Wy 1w = 1A AT R ?
Which of the following diagrams best illustrates tEc]relationship. between Earth, Sea and Sun ?

(A) (B) @ #' ' O (p) OOO

130. fRuTu M@ : ©
1.  379d S safedl ot guiar & S St STHd & |
. o s7 =afwat ) qrian & st Audt S 21
L & S =afea st aurian 8 S AT SF R |
IV. 937 safReal i geiar & s & s § |
1 ¥ 12 o ifea frg g aaarﬁﬁﬁaaaﬁawwﬁn%ﬁmﬁaﬁw :
foraa =afch el SIS AT THA 8 ?

In the given diagram : <:] _

I.  Rectangle represents persons who know E_n%‘ h.

II.  Triangle represents persons who know Mar; % |

III.- Square represents persons who know Telugh:

IV. Circle represents persons who know Hindi. i . _

The regions labelled from 1 to 12 represent vaidus combinations of language Iproﬁciency among the

individuals. : !

How many individuals can speak English exclusiygly ? ,
0 —> English (3t

Marathi (AU31) « ' '

6 e
URST R ey W\
Hindi (f&h
10
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| £nte '
131. AR FERIBIHT A, F, K, P, ®, Al ST 7 {10 2
If the sequence of letters is A, F, K, P,__, what comes next?
@B W B) T T D) V
132. 39 fapeq oy g fort weamd st deie i arem a8 S R T s 3o g A e mr g |

Select the option in which the numbers share the same relationship as that shared by the given pair of

numbers.
16 L]
W 1ss: 190 7 q -
- (A) 89:106 ~ (B) 126:134 4 (© 178:187 \/nﬂm 153
4
133, 8 T AU 3K 16 Hiex Jr=mé et Byt =1 a2 2 r;q 4
What is the area of a triangle with base 8 metersdnd height 16 meters ? . %ﬁg’ﬂ \6
/(A) 64 ni’ (B) 32m?> a (C) 128 m? (D) 15 m?
134, afE ST 3 T AR §, 40 T TR TEE 2, 30 Y A G B, 3 20 P =T S B DT v E, A Py
FIATITEEFAR ?
If in a group of people, 40 llke tea, 30 like coffee, and 20 like both tea and coffee, how many people like
. only tea ?
. om 1S B 20 0l (©) 10 (D) 40
135. foem gw s il | <]
(A) ¥ : ®) Fam:fUeem - 5[ 4o0-+30—
(C) TS| | [;],@) FGAT : ?f(zéa)
Find the odd pair.
(A) Sheep:Lamb ﬁﬁ* (B) . Dog : Puppy v
(C) Cow:Calf D (D) Tortoise : Turtle

136. @mmw%%@rzooﬁnho%ﬁmg)aﬁnﬁrﬁmm%|wﬁuw%magam°rw€s
m@rzooﬁmﬁso%ﬁm@mﬁrﬂmm%nwﬁm%qsmoo%mas%qauﬁaﬂwnﬁrw%?
(A) 68.15 feftyeiar ~—B) 61.53 farsireer
(©) 6415 e (D) 58.15 ferwi/eier

A man travels the first 200 km of his Joumry_'at 80 km/hr. Due to bad weather he travels the next
200 km of his journey at 50 km/hr. What is his 3y a\%rage speed for the first 400 km of his journey ?

(A) 68.15 km/hr _ g, (B) 61.53 km/hr _
= (©) 64.15km/r [] @) 58.15km/r QN8 oo g
137. ﬁqwﬁmﬁ%ﬁymﬂﬁqﬁﬁqmgﬁ%w%l 13
qE ; JET I ] L _
(A) STIE: HaT @ ® TERSEN:ant oo 6|
€y AT TR (ISHT) - T (D) et : Hiew (@wE vieh) e,

From the given options, find the pair which is similar to the given pair.
Projectile : Trajectory

(A) Satellite : Orbit (B) - Aeroplane : Route
(Cy Shootingstar: Atmosphere (D) SURCROOS o mmcutaccel . oox i
--------- SR R T T Page 19 of 24 P i s i =
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(

138. THIRETH, g B, ch sea*tw%upaﬁtqwﬁaﬁmﬁar% Qnﬁmw%lp R 1 ST ST
2 R swcldt TS BIT, SHATR1Q, TAFA Tl 2
A T (B) W™= . (© Wit (D) &
In a family, there are five members P, Q, R, S and T. P and Q are a married couple, Q belng the female
member. P is the only son of R, whose only daughter is S. T is the mother of S. How is Q related to T ?

(A) Daughter-in-law (B) Mother-in-law (C) Sister-in-law (D) Daughter
J n 0o
139. %@ 15, 36, 63,96, - W 3Tl G
Find the next number in the series 15, 36, 63 :gé ' 20
(A 145 (B) 122 ] (C) 128 135
i ’ H: M Z2 o
140. Tow Ty vy, forg -2 3wl i v & < d R forelt e & o2 gu & | avett 3 iR Fe 3 Ik siwta 9w
fareal @ v e ft T g sRaT 2 19 e |

In the given question, there are two sets of letters to the left of the sign :: which are connected in some
way. The same relationship obtains between the third set of letters and one of the four alternatives under it.
Find the correct alternative. - -
; = —
18120 : RAT :: 1 914?19 ? _ P X b
(A) - "RICH b) RINGS : [:] (C) RINCH (D) RIMBS

141. Y, XS AL NPHE ﬁ%lZ,Y%w-qf‘Qﬁ%lzﬁmﬁmﬁP%?
(A) zfgorgd AB) ST é (C) afrurufim (D) St

Y is in the East of X, which is in the East of is in the North-West of Y. In which direction of Zis P ?

(A) South-East (B) North-East &2 = (C) South-West * (D) North-West

L]
142. @Hﬁtaﬁaﬁtmrﬁ%g@eﬁ&m ‘ﬁi@%ﬁéaﬁqﬁ%@rﬁwwmﬁmﬂ’tﬁma@réﬁ% " =

Toreeh! aeafit off 2 TR

(a) waH (@) 2 ©) aH ) veehy aht

Pointing to a photograph Daisy said, “I have no sisters but that man’s mother is mjr father’s daughter.”

‘Whose photograph was it ? [:l :

: (A)' ‘Husband’s (B) Son’s 4 (C) Daughter’s (D) Her own 4—

44 :

143, T af2m it 3R 20 et <eft, i amdt it 7t H1 20 Reft <reft | 3 e et sl aie 20 feft <l 1 3@
awﬁam%fms%ﬂtﬁmﬁaﬁuﬁﬁwﬁmﬁasﬁmﬁmﬁamﬁ%? !
) S ®) o ] © dfm (D) aforqd |
Rani went 20 km towards west, then turned @gft and went 20 km. She again turned left and went 20 km.
She took a 45 degree tum towards her left and went straight. In which direction is she walking now ?
(A) North-East (B) East ¥ (C) West (D) South-East

o T = e st

2o
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144. ﬁwﬁ%aﬁm@qw&ﬁﬁ%m@aﬁ%zgsé'%%qnmﬁzﬁmwqu v

b 2 5 7 8 il e R
STEHE M | R T B wW|K|[D]N J
- - .l ,
af w3 Teet iR Sifom 3T 21k ANy aie § A AT A 15 F w0 e o s A |

f T & aeet M 3ifem St 31 W i &, A ANl <2 % w9 § il R sl
| aﬁmﬁaﬁtaﬁqdﬁﬁ%@ﬁw‘%ﬁtmw% A1 T A oA o S W BT
# Fifea FATRM -

(A) KTMWNB . (B) ZTWMNZ . © I(TMWNZ waj/ ZTMWNZ
Read the following table and find the relean code for ‘472938’ as per the conditions gwen
Digit 2 5 7 83'-" 9 4 6|3 B | 5 W
Letter code M R.| T B w K D N J

ol L

Conditions : _ _
1. If both the first and last digits of the lﬁfprber are odd digits, then both are to be coded as S’

.;E——z. If both the first and last digits of the nul’flber are even digits, then both are to be coded as ‘Z’

3. If one among the first and last digitsiis odd and the other one 1s even, then the first digit has to be
coded as ‘Q’ and lhe last digit as ‘er :

(A) KTMWNB-  (B) ZTWMNZ® Ft (C) KTMWNZ (D) ZTMWNZ
145, STEHH &I I - v s 9422
el : U a2 ) 7B S4B,
Find the dissimilar number. @{‘ Q49 e T P R 7 Br Jr ]
. e ——
9271, 8482, 7633, 6724, 5745 - 1o | . 244
@ 6724 L U @ S5 -1 T HE) 927) (D) 7633 . :
|2 2219 i G RO SR SR : :
146. ﬁn%faaﬁ%aﬁqmmﬂwﬁﬁa’%e (-] -2 i oy 76 3;;}’_
" Which of the following numbers is dlﬁ'erer(ﬁrom the rest ? 2 s e .-—é—z'%'&}_‘
13,17, 23,27;29 . T | ko
AN 27 ® 13 [_l (© 17 : D) 2
147. qﬁm%ﬁqﬂaaﬁaﬁﬁmaﬁﬂﬁr 18%@&!&'&% a‘:mﬁnﬁw% uﬁmaﬁﬁmﬁmﬁnﬁrsﬂ?ﬁ
Toradiar fom et i & 50% s g 7 : ; g .
4.5 ettt dan e @ (B)_c}.gﬁmﬁslﬁtja Yo S ,??;:2227
(©) 4.6 forri wf sizr A o @) s2fmitafosar R i

If the speed of a boat moving agamst the current is 18 kmf'hr, what is the speed of the stream if the boat’s - 4’%
speed downstream is 50% greater than its speed upstream ? i

(A) 4.5 kmph g ' Y , (B) 4.8 kmph

© #46kmph (D) 52kmph
DZU24 "“"“""_""""'"-"""P}u};::_z'fﬁfii """""""""""""""""""""
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148. Frafriaa aré-=Té U G 3 Yo ¥ e e S s wfiver fraor zwitan & | 8-S 1 srerm iR si
IEF AT T I T I A | _ :
The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a

book. Study the pie-chart and the answer the question based onit,.
fardt g% & Y9 | g1 a6 A = [j Various Expend:rures (in percentage) Incurred

(fava §) “:] in Publishing a Book
i
il AT .|:h Promotion\ Printing Cost ' . '
ST . 20% > Cost 20% ;
10% '@«& . I..] 10% - st
T N\ &€e V@ [ royay
ls%ﬁ : . 159£
2 ' FTS A : :
250 3109 Rreza=h 25% s 4[] Binding
q’@? | 20% <l o 20%
50 :
O‘o\;‘/"é : _x

aﬁﬁmﬁmmaﬁwmnﬁﬁm%zg%wﬁ%ﬁmmw% mﬁtmq@fzso% 'cﬁgﬁﬁ?ﬁ
%ﬁﬁmmﬁmw%? .

. If the marked price of a book is set at 40% aboujele cost price, and the marked price 1355280 what is the
~cost f'tl:u':pzq:n.er:.Js.edma:miacop],rCIfthel:ﬁc)ok?(ﬂ

,(f(fso : (B) T40 () T60 (D) T30

149. = & ¢ 37an q‘a‘arla; FTER T H IR AR

. HDYSMWNBQPOCRTBLZVEGUF ] ;
| Admmeridndd ek e el .
(A) V3RE ®) B3rRQ . k(¢ D3y (D) UIINF
Answer the qucétion according to the letter serieg \Fen below. |
HDYSMWNBQPOCRTBLZVEGUF Y
-Whlch two neighbours in the given anangement[a} farthest in the alphabetlcal order ?
;(A);ag_q; WS zandg : @ Gypwiy, . CllEir o,

150. FfX 37T 7% INFORMATION' ¥ 1, 5, emsammmmm@wmmwm%

Y 39 I158 T ST TR FIT a1 7

If you can form exactly one meaningful English word using the 15, 5™ 6™ and 8™ letters of the word .

‘INFORMATION’, what will be the fourth letter of that word ?

: -
- o e e e i e e S e A AN mLsmme -

| g5 P
v Tl TRy A8
O .
QD
3
&L
=
2

="
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